
ULTIMATE CF SL EL | R22-17
REVISION 00 |  15.12.2016

  

       

 

1PC

1PC

2PCS

1PC

3PCS

1PC

1PC

1PC

1PC

1PC

1PC

1SET

2PCS

4PCS

1PC

3PCS

1PC

1PC

1PC

1
2
3

5

6

4

7

14
15
16

Qty.

A1037888

Canyon# Part Name

Cable cap BB

FD Hanger
A1037675

E157-13

E158-13

No.25
A1036982

A1037680

E159-13A1037678

E56-12A1022937

E161-13A1037719

Assembly battery holder

see drawing

E160-13A1037720

screws for battery holderA1037721

A1037681

No.28
A1038716

A1016757

Fork

brake bolt

see drawing

105380

One One Four SLX  F17-16

P01 carbon raw/black

A1034602 seat clamp E93-13

105382

Head Set

103685Acros Ai-70 Fiber black/blue

103683Acros Ai-70 Fiber black

103684Acros Ai-70 Fiber black/red

105385

grommet Di2 chain stay

RD Hanger

screws for FD-Hanger M4x12

RD Hanger screws M3x8

protection foil C/S

7

13

1

2

4

3

6

5

chain suck plate

plastic clip-in cable holder

screw
10

M4x8

14

8

9

Head Set Ai-70 Fiber

M4x12

11

alloy water bottle screw M5x0.8x20

TORQUE 4.5Nm

Optional

5a
6

RD Hanger

RD Hanger screws M3x8

OPTIONAL

15

17

16

29mm

F17-16

P03 grey/black/red

12

P06 fancy petrol/dark petrol

5a
6

8

9

10
11

13
12

17


